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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1)

2)
3)

4)

5)

Tierelf FauYm 3UR UYH UF W AT AfHEEa: fore |

Candidate must write first his / her Roll No. on the question paper
compulsorily.

aHft v srfram €

All the questions are compulsory.

ek U9 T 3T &f T8 STR-YiEaent # # ford |

Write the answer to each question in the given answer-book only.

™ Tot # Sraiies @oe g, 3T @ & IR Tk a1y @ ferE)

For questions having more than one part, the answers to those parts are to
be written together in continuity.

99 U o @t 9 oRistt TuTar | foRet wehr Y e / o / ferenyme g W =t
WTHT o U9 I g TqE 7|

If there is any error/difference/contradiction in Hindi & English versions

of the question paper, the question of Hindi version should be treated
valid.
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6) i) UE U UA I @uel U faus g - 1 3R 9|
i) w@ug ‘e @t Bl & fow srfa 71
iii) @uz T % g 9N §, TAH WIT § Aa T § | urereff i Rt ue Wi % |t |
9T T g HEAT B
1)  This question paper contains two Sections - A and B.
i) Section'A'is compulsory for al candidates.
lii) Section 'B' has two portions. Every portion has a set of seven questions.
Candidate can attempt only a set of seven questions of any one portion.
7) w@ug T AT 37k TAH T
H 1-8
9-14
15-21
22-23

E| 24-25
26-27
28-29

30

o PR~ANPRE o R~ANPRE

FYat
24-25
26-27
28-29
30
Section Q. Nos. Marks per question
A 1-8 1
9-14
15-21
22-23

o~ DNBE

B 24-25
26-27
28-29

30

o R~DNPE o RN

OR
24-25
26-27
28-29
30
8) v T 22 (Wue-21) dur 30 (WuE-9) U ATk fahed E)
There areinternal choicesin Q. No. 22 (Section-A) and Q. No. 30 (Section-B).

o PR~ANPRE
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2)

3)

4)

5)

6)

7)

3
Qg - H
SECTION - A

ATt Y Tehg TN fohm s1quTa | avet ATt 3 [1]
In which ratio the cash amount of goodwill isdivided?

3@ T 1 AT Tt fHeh A e WR 79T AreieR WA sht wratat |§ e ure e
H [1]
Write the name of that amount which is paid by new partner to get sharein Firms
Assets.

HI3 3 FHETS &% A0 forE S 91eER & W € TRt o 0¥ 3cad gt ¢l [1]

Write name of any two problems arising at the retirement of a partner from the
firm.

TEEAT W hi Thia o [1]
Write the nature of Realisation Account.

3191 AT 31l Torn| [1]
Write the meaning of the share.

TruTiyae gfayfd & & o feifaa w5 v w s o= T8 e s 27 [1]
Why does not interest pay on issue of Debenture as Collateral security?

11
a3 HEC Rk

YUET SIATA AT T | [1]

31,9 R | &1 741 Ut 3 3 2 Bl oF 3R F T @ 1 HJUTd

11
New Ratioof A,Band Cis3: 3: 2. Sacrifice Ratio of 'A'and'B'is§2§.Calculate
the Old Ratio of A and B.
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8)

9)

4
Hrerm 3 o1 1,000 wwat 791 W 4% Ufd o791 gem a ifwm wnr 6y ufyr 4 urg g deq
<Y WIST o TTY TR &Y | HEUHT hY YEAehi W ST hl ARUN A & SIAR e wi[1]

Neelam paid first and finals call's amount of X 4 per share aong with allotment 4
months earlier on her 1000 equity shares. Pass entry of interest in the books of a
Company as per table 'A’.

T OTEH WH T of oiR & ®TeeR g1 o & & 4,000 %. ufy urg aa urar 2| 99 & ofa
H FTa gaT foh Q¥ a4 Y A= shi AT 31 o ATe] WA o AT W & o ATe] ©Td § THT i
Tt | FETE wfefe s [2]

A and B are partners in a partnership firm. A gets Rs. 4000 per month as salary
from thefirm. It isfound that the amount of salary of entire year iscredited in B's
current account instead of A's Current account at the end of the year.

Pass Adjustment entry.

10) ues wH o 3itaa @ 80,000 %. 21 36w 10,000 F. T SMETHR TN IS g | ST

11)

12)

13)

H fafenfsa ooft 5,00,000 €. 71 o it a2 10% 31 Stferey & or ot & s’
Tt <Rl TUTET | [2]

A firm'saverage profit are Rs. 80,000. It includes an abnormal profit of Rs. 10,000.
Capital invested in the business is Rs. 5,00,000 and the normal rate of return is
10%. Calculate goodwill at four times of the super profit.

TR % STIUTd I TR o T ¥ g 2 o= fora| [2]
Write any two distinction between Gaining ratio and Sacrificing ratio.

e uR uitfearfaat forad fer srur =mamers ueh & o THTIA <Rt 3119 < |ehdl g 1[2]

Write any four circumstances in which the court can give an order to dissolve a
firm.

Aot & ‘Foit ®u @ fefaa’ &t g forfean [2]
Write the meaning of private placement of shares.
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14) zgw fafiee 3 100%. arer 2,000-9% 5ot U=t st wayed W frtaa foran RyAent shem

4% g R foran ST 31 s foifies & gyeaent @ emavass wfafteat hikm [2]

Indrg limited issued 2000-9% debenture at the rate of Rs. 100 each at par which
would be redeemed at 4% premium. Pass necessary entries in the books of the
Indrg) Limited.

15) dATEEr 9o % 9T H AR g 9T g IR graaE fake) [4]

Write any four provisions applicable in the absence of partnership agreement.

16) HIgd iR Wigd Ush wH | Argigr | 31 are 2016 st 39k Ysit @rd seaet: 1,50,000 %
ud 1,60,000F. o1 919 Tehe oh¥d 2| a9 a1 ey 1,00,000 €. siiet <11 ekt g1 At @
T THE e wE 1 2 T W@ ™=n-

1. wTgER ysit W 10% anfie samet umw o & erfaretdt R

2. 99 o SR HIgT R A@ig 7 wavr: 20,000 ®. wa 15,000 ®. &t ATgH0T foRam)
JATEUT W 8% it <X & 6 UTZ T ST AT AT

I GUR & oI =me] ad & ofq § MTavaeh WA Ufaftedt it | [4]

Mohan and Sohan are partners in a firm. As on 31st March 2016 their capital
Accounts/ Balance showed Rs. 1,50,000 and Rs. 1,60,000 respectively. Profit of
theyear Rs. 1,00,000 have been distributed. Thefollowing items have been left out
while preparing thefinal account.

1. Thepartnersareentitled for interest on capital at the rate 10% per annum.

2. During the year Mohan and Sohan withdraw Rs. 20,000 and X 15,000
respectively. Interest on Drawings was also to be charged at the rate 8% per
annum for six months.

Pass necessary Journal entries for rectification of error at the end of the current
yedr.
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17)

18)

19)

6
=1 gertent | wRunyd qadedieRd Wil qaR i [4]

1. few ot wewt 3 2% arguma § W giiv e gu AIgEn §

2. Wﬁﬂ%ﬂaﬁ%m%mmmlwﬁwﬁﬁwﬁmWI

3. waa @ geg 10,000 ®. & FgrEn, wHier ot gea 5,000 F. & & fohan gaa =wur
smEE 2,000 w. 9 gewE|

From the following informations prepare Memorandum Reval uation Account :
1. Dinesh and Manoj are partners sharing profitsand lossesin 3 : 2 ratio.

1
2. They entered Mahesh as partner for = share hewill get hissharefrom Dinesh.

3. Thevalueof Building increased by Rs. 10,000. Furniture value decreased by
< 5,000. Provision for doubtful debts decreased by X 2,000.

= w wfem fewfiet fafaa: [4]
) iR ardwe et

i) wHUN weiw fawea AeET|

Write short notes on the following :

i) Initial Public offer.

i)  Employee stock option scheme.

10®. arer 400 3191 o= wX 8 ®. ufer 3791 /i = o, 3R 6%, Ui 391 ¢ fo=n =, =
7ot ferat| 379 & 300 Yuiew o o &9 ® 7 ®. W Y+ i o fou =)

FHrOT i gEaent § S afafteat fifkm [4]
400 shares of X 10 per share on which X 8 per share has been called up and X 6

per share has been paid up are forfeited. Out of shares, 300 shares are reissued for
X 7 asfully paid up.

Givejourna entriesin the books of a Company.
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20)

21)

22)

7
T fafiee ot 3 1 s 2012 % 100 €. st 10,000-12% 601 U @0Hed W
Trifia forar frment wiiem 4 o &g 6% Witfiem or feRam RATT 9IRS <hT SKUT U <
frtme w ifs @mar s=ten| [4]
On 1st April 2012 Rakesh Limited company issued 12% 10,000 Debentures of Rs.
100 each at par redeemable at a premium of 6% at the end of four years.
Prepare Loss on issue of Debentures Account for Four years.

T gaaen & wH & wHUE W Sl Wi Ud ek WAn sAs | [4]
) TRt @1 it @ 20,000 ®. S

i) wrgT w1 g @mar 10,000 . W

jii) =Ee @ 6 g 8,000 .

iv) feremr & o1 5,000 %.

v) TRemR = 6,000 %. W wH Y U |t @ldt

vi) e 9w 1,000 %.

From the following details prepare partners Capitals Account and Cash Account
at the time of dissolution of firm.

i)  Kishors Capital Account X 20,000 Credit.

i)  Mohan's Capital Account X 10,000 Dehit.

i) Losson Redlisation X 8,000.

iv) Loan from Kishore X 5,000.

v)  Kishore purchased an Asset of X 6,000 from the firm.

vi) Cash Balance Rs. 1,000.

T, aT8 R Wg 2: 1 1% S1guTa ® @I BT+ died gu wgen ¢ 31 AT 2016 % wH
=1 forgt e R o
®. ®.

St @t

T 30,000 | we= 40,000

arg 20,000 | T 30,000

RE 15,000 | =ER 35,000
T EwE 12,000 | &= 9w 5,000
IR 33,000

1,10,000 1,10,000
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1eg 2016 ot g wH W TTRTI TEUT hat ¢l 38 fem A foa fora )

1. %2 @ gagedred 25,000%. R ta waq @1 gaHedred 50,000 w. w forar |
TER W 1,000 ®. =t G@fer /ot & foru srae s\ S|

2. i et 24,000 . W goAiferd Sl W SR IUW WS o T w1 e SR g
& YSit @t § g B 9

3. TEE 3R a8 wias # oy g1 i SeER-aeR died &t Hvea o §

4, TFHA AR TS T WH Y HeT YWt hl Aehg W THTATNG Y T g AT J TR |

5. g W AT 98 1 @1w @ fgEr 2,000 F. R
TR WAl Ud ATSERI o Yofl W a3 | I8 Wi g0 o hiferd it wH
UTE Z T YA i o [0 U=t o €T £ [6]

areraT
A, T AR | o @t 2: 11 Ared ge U wige # | wuaA % fow 3 fag A e
fearfa =ars -

3 3

IR 40,000 | wa= 50,000

31 9 H/OT 48,000 |weT®R 40,000
o 12,000 |&eR 32,000

rl — TR 2,000 30,000

A 50,000 |wefd 35,000

T 20,000 |wter 25,000

| 20,000 |&® & Trwe 10,000

1,90,000 1,90,000

Tt Y 20,000 %. # A T, EeteR % qEdes 9eq & 20% wu e

w7 ¥ 1,00,000 . wa Tk & 35,000 %. fae)

gaa w0 5,000 . gul

Tget =g 3,000 %. o1 7 33 aun SFERt @1 P 5% e W @ T % e

wH & foeg afa gfd @t 10,000 & @1 Uek gTaT o7 $EehT WY A ST ST
TEE WTAT TS Gil @ GaR i | [6]

a Dk
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X,Y and Z are partners sharing profitsand lossesratio 2 : 1 : 1. The Balance
sheet of the firm as at 31st March 2016 was as under :

3 3
Capitals
X 30,000 Building 40,000
Y 20,000 Stock 30,000
Z 15,000 Debtors 35,000
General Reserve 12,000 Bank Balance 5,000
Creditors 33,000
1,10,000 1,10,000
On 1% July 2016 'Z' takesretirement from the firm. On that date following decesions
weretaken.

1. Stock revalued at X 25,000 and building revalued at X 50,000. Madeaprovision
for doubtful debts on Debtors for X 1,000.

2. Firm'sgoodwill valued at X 24,000, Z's share to be adjusted through X's and
Y's Capitals Account.

3. XandY decided to divide Profit & Lossequally in future.

4. XandY will put new firmstotal capital in Profit & Lossratio after adjustingin
Cash.

5. Shareof Zin current year's profit is < 2,000.
Prepare Revaluation Account and Partners Capital Account by assuming that firm
has no sufficient fund to discharge Z'sliability.

OR
A, B and Cwerein partnership sharing profitsintheratioof 2: 1: 1. Their Balance
sheet showed the following position on the date of dissolution.

3 3

Creditors 40,000 Building 50,000

A'sloan 48,000 Stock 40,000
Reserve Fund 12,000 Debtors 32,000

Capita —Provisions 2,000 30,000

A 50,000 Machinery 35,000

B 20,000 Furniture 25,000

C 20,000 Cash at Bank 10,000

1,90,000 1,90,000
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23)

10

1) Machinery was sold for X 20,000 and Furniture at 20% less than the book
vaue.

2) Buildingrealised X 1,00,000 and stock realised X 35,000.

3) Bad debts amounted to X 5,000.

4) Readlisation expenses of X 3,000 paid by ‘A’ creditors were paid at a discount
of 5% by C.

5 Therewasaclaimof ¥ 10,000 for damages against thefirm. It had to be paid.
Prepare Realisation and Capitals Account.

T w3 50,000 e 10 ®. et w9 gea R fifaa fohn w59 weww g
qm1 e

ARG W 2F. 924 W 4%. 99 O 92\ wa Afw @it w® 70,000 39t & oo e
o g8l Ig Aot foren wman o

&) 10,000 =797t o SATgehi i IS e 7 foram W)
@) wiga st 20,000 379 1 rere ferat wime forem s gt atent o foru staee femam o
M) W 3T T SATEeA ATUTAh MR W feran @)

I ¥ AT T WA I 1 YA T¢ foman| |wga s ant ' & wafea on f’r& 3,000
A9 SATEfea fohu T 9 J 3ATee & T SAfw AT 1 WA oY W e sty W e
yfafteat Hifvm) [6]

A company issued 50,000 equity share of X 10 each at par payable as under.

OnapplicationX 2, onalotment X 4, and remaining onfirst & final cal. Applications
were received for 70,000 shares. It was decided that :

ad Refusealotment to the applicants for 10,000 shares.
b) Allot 20,000 sharesto Mohan who applied for similar number and
c) Allottheremaining shareson pro-ratabasis.

Mohan failed to pay the allotment and calls money and Sohan who belonged to
"C" category and was aloted 3,000 shares paid the final calls with allotment,
Record necessary Journal entries.

SS—30-Accountancy
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Qg - o
SECTION - B

WU o & g1 UNT g, TAeh UNT | OTd U9 ¢ Udtenierat st feret ueh T o |t goat i
T HET 2

Section B has two portions. Every portion has a set of seven questions candidate
can attempt only one set of seven questions of any one portion.

24) fam graseft fRamemt @ Tehs TaTE & €F 30T S| [1]
Givetwo examples of cash flow from Financing Activities.

25) rhe UATE e Scael gt 2 [1]
When does a Cash Flow arise?

26) THM HATHR & A9 farawor st o/=an 71 22 [2]

What is the meaning of Common size Income statement?

27) = gamen w fafs=rt & e yag 7| fike
1 et 2015 =ht farfaemmmt w1 9w 1,50,000 &.
31 uret 2016 =t fafa=m w1 3w 80,000 .
uTe @9 @ g 25,000 ®. & fafam el oot g faffmm 20% et ms=n [2]
Find out Cash flow from Investment from the following informations :
Investments ason 1st April 2015 X 1,50,000.
Investments as on 31st March 2016 X 80,000.

During the year purchased investment costing X 25,000 and sold someinvestments
at aloss of 20%.
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28)

29)

30)

12
= foraror & faffam aresht Tranett & Tove warg, 7@ w1
w1 @ier 6,00,000 w. fafr=m wdie 3,00,000 w. et se=r 2,00,000 ®. wav farspa
4,00,000%. wfi= farskar 2,00,000 €. Uew fersear 3,00,000%. faf=rm o um samet 60,000
w®. =y g 20,000 w. [4]
Calculate Cash Flow from Investing Activitiesby using following details :
Building purchased X 6,00,000; Investment purchased X 3,00,000; Machine
purchased X 2,00,000; Building sold X 4,00,000; Machine sold X 2,00,000; Patent
sold X 3,00,000; Interest Received on Investment X 60,000; Dividend Received
< 20,000.

e forawon it wgrEar @ genTers ot foraRer dam W [4]
31 wr=t 2015 31 wr=t 2016
. .
fersma 10,00,000 12,00,000
A T HIA hHI AT fersra =1 60% farsra w1 75%
ALY T Gohet oH h1 10% Gohet o skt 5%
AT AT ¥ I Ig o & 40%
With the help of the following details prepare comparative income statement :
31st March 2015 31st March 2016
3 3
Sales 10,00,000 12,00,000
Cost of Goods sold 60% of sales 75% of sales
Indirect Exps. 10% of Gross Profit 5% of Gross profit
Rate of Income Tax 40% of Net Profit before Tax
31 uret 2016 whi THTE 9 1 STIR TS W g @t qen 36t fafer st fergr e wem 7
Z X
IRt Eiaan 40,000 | fersra 4,00,000
) 2,00,000 | arfram @i 20,000
e A 30,000
Ghet 1,50,000
4,20,000 4,20,000
ELES 35,000 | @eret @I 1,50,000
wter fegra <t gifa 5,000
g AH 1,10,000
1,50,000 1,50,000
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forgt

4 X
qHAT 39 g 3,00,000 | we= 4,00,000
Y g @ 1,10,000 | wgferam 20,000
TR 1,50,000 | & ER 1,00,000
3Te A 50,000 | Trke & | 90,000
6,10,000 6,10,000
EENE
i) =] srguTa i) %eleh e iU
iil) FeReT W AU IV) TG TN IIgaTd
V) uREme squT vi) wafie srquTa FTE e
[6]
sreraT
i o @ 31 wret 2016 w1 fargt st
X
10,000 @w=ar 3191 gersw 100 10,00,000
" 99T 2,00,000
10% wut 9=t 6,00,000
QECL 1,00,000
TRATId SATHI 2,00,000
Y g @t e 40,000
o 11,60,000
TEHR AU 4,00,000
with 4,80,000
=0T o= e wge 20,000
[6]
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Trading and Profit and Loss account for the year ended 31st March 2016 and

Balance Sheet on same dateis given below : [6]
X X

To Opening stock 40,000 | By Sdes 4,00,000
To Purchases 2,00,000 | By Closing stock 20,000
To Direct expenses 30,000
To Gross Profit 1,50,000

4,20,000 4,20,000
To Sdary 35,000 | By Gross Profit 1,50,000
To Losson sale of furniture| 5,000
To Net Profit 1,10,000

1,50,000 1,50,000

Balance Sheet
X .

Equity share capital 3,00,000 | Building 4,00,000
Profit & Loss account 1,10,000 | Stock 20,000
Creditors 1,50,000 | Debtors 1,00,000
Outstanding salary 50,000 | Cash at Bank 90,000

6,10,000 6,10,000
Calculate from the above:
1) Current Ratio. i)  Stock Turnover Ratio.
i) Gross Profit Ratio. IV) Net Profit Ratio.
V) Operating Ratio. vi) Proprietary Ratio.

OR
Prepare Balance sheet as on 31st March 2016 from the following details:
X

10,000 equity shares of Rs. 100 each 10,00,000
General Reserve 2,00,000
10% Debenture 6,00,000
Creditors 1,00,000
Proposed dividend 2,00,000
Building 11,60,000
Profit & Loss Account DR 40,000
Government Bonds 4,00,000
Stock 4,80,000
Discount on issue of debenture 20,000

31eat/OR
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Qg - o
SECTION - B

24) SQL <1 g1 T8 T g ?
What isfull form of SQL?

25) HTRETE AW Ugid sl Teh farsrar samsu|
State one feature of Computerized Accounting System.

26) HTETTE TR Tgid <hl i3 SN HWTY T3y

Give any two limitations of Computerized Accounting System.

27) wiEieR H ehreged hl YfHeRT Tl TS
Discuss the role of computer in Accounting.

28) T ThHIA o IUART hi THSATSY|
Explain the purpose of data base scheme.

29) IeTEm FAwHe faven wt aus U, 3Heh SuAIaT aanse |
Explain data base management system along with its utility.

30) fFmfefaa functions < s =aTsu|
Explain the use of following functions:
a SUM
b) Min. Max.

+4++4+
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